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1. The bonding of two amino acid molecules to form a larger molecule requires

(A) the release of a water molecule (B) the release of a carbon dioxide molecule -
{C) the addition of a nitrogen atom . .. :(D) the addition of a water molecule - -
{E)bothBand C e -

2. Recent evidence shows that individual chromosomes occupy fau‘ly deﬁned territories within the nucleus.
Given the structure and location of the folluwmg parts -of the nucleus, which would be more probably
involved in chromosome:location? . st ; ;
(A) Nuclear pores S (B) The nucleo]us : (C) The outer: hp:d bﬂayer

(D) The nuclear lamina (E) The nuclear matrix - Bivugs & - - TRk
3. According to the fluid mosaic model of cell membnmes, which of the followmg is'a true statement about
membrane phospholipids? i : T

(A) They frequently flip-flop from one side of the membrane to the other. -
(B} They can move laterally along the plane of the membrane. . :
(C) They occur in an uninterrupted bilayer, with membrane protems restncted to the surfaee of the
membrane. o oy :
(D) They are free to depart from the membrane aud mssolve in the surrouudmg solution.
(E) They have hydrophilic tails in the interior of the membrane. s e
-4, Zinc, an essential trace element for most organisms; is pmsent in the active site’ of the enzyme
carboxypepbdase The zinc most likely functions as a(n)- . oy frivnd 142 TR
(A) competitive inhibitor of the enzyme :- (B) noncompeht:ve mhxbltor of the enzyme
{C) allosteric activator of the enzyme (D) cofactor necessary for enzyme activity
o .‘(E)coenzymedenvedﬁ'omawtamm i iy ; won ted % B el
" 5. In glycolysis, for each molecule -of glucose: mudlzed to pyruvate Fote e e e
" (A) 2 molecules of ATP are used and 2 molecules of ATP are pruduoed : i
(B) 4 molecules of ATP. are used and 2 molecules of ATP are produced - ..
(C) 2 molecules of ATP are used and 4 molecules of ATP are produced :: : -
_ (D) 2 molecules of A’I‘P are used and 6 moIecules of ATP are produced . .. o
~ (E) 6 molecules of ATP are used and 6 molecules of ATP are produced —
6. G proteins and G-protem—hnked receptors _ :
(A) are found only in animal cells, and only | embedded inor located ]ust beneath the cell's membraue
(B) are found only in bacterial ceils, embedded in the ceil's p]asma membrane only .. o
(C) are thought to have evolved very early, because of their similar structure and flmetlon ina w1de vanety
of modern organisms L ; \ :
(D) probably evolved from an adaptation of the citric acid cyele - B
(E) are not widespread in nature and were unimportant in the evolution. of euknryutes 1 B
7. Which term describes centromeres uncoupling, s:ster chromatlds separahng, and the two. new chrumosomes ‘
moving to oppnmte pnles of the celI? 7 . ; i £
{A) Telophase (B) Anaphnse (C) Prometaphase ; (D) Metnphase (E) Prophase s
8. A karyotype results from which of the following? .. : v g s ElEEY
(A) A natural cellular arrangement of chromosomes in the nueleus i
(B) An inherited ability of chromosomes to arrange themselves s o el
(C) The cutting and pasting of parts of chromosomes to form the standard array
(D) The ordering of human chromosome images -.:
(E) The separatlon of homolog(ms ‘chromosomes at metaphnse I of memsxs

RHED




By dMAR 580k AREHEEE T |
735 : B011 r % BO11

#HE LiEAAe #$# IRz 2>8

9. How many unique gametes could be produced through independent assortment by an md.mdual with the
genotype AaBbCCDJEE?
A4 @8  (©16 ('D)32 (E)64
10. New combinations of linked genes are due to which of the followmg? x R
(A) Nondisjunction (B) Independent assortment (C) Deletlons ,
(D) Mixing of sperm and egg (E) Crossing over ‘ i :
11. Suppose you are provided with an actively dividing culture of E, ca.'i bacteria to which radioactive thymine
has been added. What would happen if a cell replicates once in the presence of this' radmactwe base?
(A) One of the daughter cells, but not the other, would have radioactive DNA.
(B) Neither of the two daughter cells would be radioactive.
(C) All four bases of the DNA would be radioactive. .
(D) Radioactive thymine would pair with nonradioactive guanine.
(E) DNA in both daughter cells would be radicactive. 4 i Henr ot
12. Which of the following is true for both prokaryotic and eukaryotic gene expmsswn? =
(A} After transcription, a 3" poly-A tail and a 5* cap are added to mRNA.- B
(B) Translation of mRNA can begin before transcription is complete. -
(C) RNA polymerase binds to the promoter region to begin h‘anscnpnon
(D) mRNA is synthesized in the 3° — 5’ direction.- S
(E) The mRNA transcript is the exact complement of the gene ﬁom which it was cnp:ed. ;
13. Genomic imprinting, DNA methylatmn, and histone acetylation are all examples of" |' o
(A) epigenetic phenomena . | (B) chromosomal rearrangements . (C) km'yotypes [
(D) genetic mutation .- . ... .- - (E) translocation - l
14. Which of the following seals the sticky ends of restriction ﬁ-agments to make recombinant DNA?
(A) Restriction enzymes . .(B) Gene cloning . {C) Gel elecu'ophoresxs i !
(D) DNA ligase (E) Reverse transcriptase - ..~ . : SR SR
15. Which of the following characteristics are keynote adaptations to the' seed-producmg plnnts?
(A) pollen & seeds (B) lignin present in cell walls & seeds ~* *(C) megaphyl]s & seeds
(D) use of air currents as a dispersal agent &seeds = o (E) sporopollenm & seeds sl
16. Which orgenisms listed below are thought'to be the closest relatives of fungi? i
(A) Animals (B) Vascular plants (C) Brown algae . . (D) Cya.uobnctena (E)'Mossés T
17. What is the consequence of double’ ferhllziatmnmangmspenns‘? A ? o
@ Both adlp]md embryo and 11'1p1md eddosperm are formed. Wb et R SRR O LS

&

(C) Two embryus develop in every seed. '
(D) A triploid zygote is formed. G
-(E) The antipodal cells develop into the seed coat, i85 S
18. In both lichens and mycorrhizae, what does the fungal pirth
(A) Antibiotics (B) Protection from harmful UV~ (C)
(D) Fixed nitrogen (E) Water and minerals - 3
19, Microevolution, or evolution at its smallest scale, occurs when '
(A) a population's allele frequencies change over a span‘of geuerauons PR
(B) an individual's traits change in response to environmental factors L
(C) a microorganism mutate to adapt the énvironmental stress. e i
(D) a community of organisms changes due to the extinction of several dommant spemes S
(E) a new species arises from an exlstmg species; "
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20. The loss of plant bicdiversity, mcludmg the wild relatives of crop spemes is harmful because these wild
relatives .
(A) global warming kxils most of them. (B) feed most of the world’s popu]anon. o
© (C) may be suitable for domestication and regional production.. - . . (D) are often tastier than e}usimg Ccrops.
. (E) are a source of genetic diversity that could be used to modify or bolster existing crops.
21. Genetic drift resulting from a disaster that drastically reduces population'size is called- g
(A) microevolution. ... (B) natural selection.. - - - - (C) gene flow. - ot
(D) the founder effect. ... : . (E) the bottleneck eﬂ'ect. :
22, Which of the followmg orgmusms first introduced oxygen into Earl.h s almosphere?
{A) Bryophytes (B) Green algae . . (C) Early protozoans . .. : (D} Plants (B} Cyanohnctena
23. The recessive allele of a gene causes cystic fibrosis. For this gene among Caucasmns, p=098.1fa
Caucasian population is in Hardy-Weinberg equilibrium withrespect to this’ gene, ‘what proportmn of
babies is born homozygous recesswe, and therefore suffers cystic fibrosis? - .

(A)0.02 . (B)0.0004=(0.02> .  (C)0.03922=2(0.02x 0. 98)
(D) 0.9604 = (0.98) ... .(E)O. 9996 = 1- (0.02)?

. 24. The host range of a virus is detennmed by ) Wams TR
 (A) the enzymes carried by the virus: - (B) the proteins on its surface and that'of the host.
- (C) whether its nucleic acid isDNA orRNA. . (D) ‘the: protems in the' host's cytaplasm

® the enzymes produced by the virus before it infects the cell.
25. The most 1mpnrtant 'featuire that permits a gene to act as a molecularclock is W
~ (A) having a large number of base pairs.* = - - '(B) having a reliable average rate of mutatmn.
*(C) being: acted upon by natural selection. - (D) having a larger proportion of exon’ than of intron.
' :-'26 If organism A, B, and C belong to the same Class but to-different Orders and’ if: organisms D, E, F belong to
: the same Order but to different Families; which of the followmg pan's of ¢ orgamsms would ba expected to
- show the greatest degree of structural homology? |
(A)Aand B (B)Band D (©)CandF (D)DandF
27, The correct sequence from the highest taxonomic levels to the lowest oneis
(A) phylum, kingdom, class, order, family, genus, species. - S
(B) kingdom, phylum, class, order, fnm:]y,;g_e_nus, Species. -
(C) phylum, kingdom, class; family, order, genus, species.
(D) kingdom, phylum, order, class, family, genus, species.
.28 Wl:uch of the following organisms has the farthest relahonslnp with others? :
(&) E coli B) C. elegans (C) Drosaphila sp. (D) Homo sap:ens it
] tic: egg considered an important evolutlonary breakth:ough? S

(Cinsect  (D)mematode
als does not beltmg to invertebrates?
. i (B) Eéirthworm and octopus
(C) Shnmp :and sea cucumber (D) Ape and lizard
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32. Which of the following animals does not belong to living fossils?
(A) horseshoe crab (B) coelacanth (C) nautilus (D} panda
33.:Which infoxination about algal blooms is correct?
+ (A) Algal blooms often lead to black tides.
! - (B) The frequency of marine algal blooms has decreased globally,
(C) Red or brown tides are often correlated with the release of toxic compounds,
(D) Bacteria feeding on algal remains can use up CO; and benefit aquatic animals, -
34. The native cycads (#%#8) in Taiwan are threatened: by exotic'cycads. What is the major reason?
(A) Exotic cycads invade the native one’s habitat (i.e. - &%),
(B) Exotic cycads secrete chemical in soil and then kill the native one,” o
(C) Exotic cycads attract pollinators away from the native one.. x
(D) Exotic cycads support high populations of herbivores, which hurt the nauvc cycads
35. Which statement about nutrient cycles is not true? : i 2
(A) Earth is basically a closed system; and therefore life on Earth depends on the recyehng of elements.
(B) Nitrogen gas makes up about 78% of our atmosphere. Therefore, nitrogen is‘usually not a hrmung factor in’
plant growth, :
(C) The most common nitrogen-fixing bacteria often form symbiotic relahunsh:ps with the roots of legumes
(D) Industna.l nitrogen fixation facilitates agricultural development but also creates environmental problems (e.g
euhuphicahun dueto excesswe femllzatlon) -
36. Which statement about trophic structure and ecosystems istrue? ... o ks o
(A) Energy flow in ecosystems does not follow the pattern of “pyramid of energy’ P s
(B) DDT concentration usually reached the highest level in species at lower trophxc levels (e g. primary
_producers), greatly reducing the - population of these species. ;
(C} Higher specles diversity often Ieads ‘to'higher ecosystem functions. R
(D) Prionailurus bengalensis (FHE), an important top predator in Taiwan’s ecosystem, is ofhen found in
high mountains,
37. Which statement about ecology i isnot true?. e st g bl cedt ol
5 o (A) Ecological studies investigate orgmsm—orgamsm or oxgamsm-euv:ronment re]auons
- (B) Plants can sequester a lot of excessive carbon produced by human activity.: i :
: '(C) The world is green because predators can control herbivores, and nlso because p]ants have defenses
egamstherblvnres . st e smedh e thi i
‘ (D) Taiwan's ecosystems are rarely aﬂ'ected by invasive speclee since mean is 1solated from other
.-countries, o = ; ; e i o :
38, If’you beeome a Ieader in menn what mfurmanon ebunt global eeolugy/chmate ehnnge can you tell your people? %
{A) mean is lueky because land at similar Iatitudes around the world is often covered by deseris ur SEVANNAS,
(B) T’ cosystems have very high biodiversity, compared to the majority of countries in the World
{C) Sp ios 'derclimate change (i.e. warming) may have to move to higher | elevenons inTaiwan, | .

A ©1000 (D) 10000 o

40, The full i range of abmhc or bmtlc conditions and resom a m:es can use fur mmva.l and reproduchon
is its CAEEAELS R ;i;, o : :

(A) habitat " (B) mche e {C) ecosystem .' (D) community
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41, Which of the following about predator-prey coevolution should be true? -

~'(A) Each species can exert selection pressure on the other. & i

- (B) Predators are selective agents leading to improved prey defenses. ]

(C) Preys with better defenses are selective agents leadmg to better predator htmtmg gkills:
(D) All of the sbove S SEECE e

42, Some introduced species become invasive and cause deletenous effects in introduced habmats The success
of these invasive species is often because - s Hitisd
(A) there is a lack of associated parasites, competitors,:or predators in |n1mduced habitats.

(B) the invasive species are long-lived. R :
(C) the invasive species quickly form a mutualism with'local species.
(D) all of the above.

43. When the birth rate and immigration equal the death rate and: emlgmhnn ina pnpulahon, the result’is
- (A) logistic growth. . (B} exponential growth. - (C) geometnc growth. ' (D) zéro population growth.

44 The high osmolarity of the renal ‘medulla in mammals is maintained by all of the fol]owmg except
(A) the spatial arrangement of juxtamedullary nephrons:’

(B) diffusion of salt from the déscending limb of the loop of Henle. -
(C) diffusion of salt from the thin segment of the ascending limb of the loop of Henle! S
(DYactive transport of salt from the thick segment of the ascending limb of the loop of I-Ienle HHERD T
(E) dxﬁ"usron of urea from the medullary collecting duct. i 53
45. ‘Which of the following occiirs difring exp:renon?
(A) The diaphragm contracts and the alveoli inflate.”
'(B) The decrease of thoracic' Volume Taises the mimpleural pressure above the atxnosphenc pressure,
thereby causmgau'to flow out ofthelungs ‘ B - i o e,
- (C) The ribs move upward to'decresse the ﬂmramc volime and the alveoli deflate.” " ii EE e
_(D) The diaphragm relaxes and the: pressm in the alveoli becomes greater ﬂ:an the atmosphenc pressure.
thereby pushing the air out.’ 3 : :

46. Which of the: followmg is the correct sequence that descn'hes the excitation: and contracnon of a skeleml

muscie fiber? 48 :
1. The thin ﬁlaments are ratcheted across the thmk ﬁ]aments by the heads of the myosm molecules
-using energy from ATP. ik
2. Tropomyosin shifts:and: uanoeks the cross-bndge bmdmg sites on the thin ﬁlameut
3. Transverse tubules depolarize the sarcoplasmic reticulum. - st |
4. Calcium is released and binds to thetroponin complex. .« o s EEs
5. An action potential in a motor neuron causesthe axon to release: m:ety]chohne, w]nch depolanzes the
cell membrane of the muscle ﬁber e Bt g
(A)5—4—3—>2—1 (B)4—>’J—r3—*5—+1 (0)4-'3—4-»2—»5 -1- v
D)5—-3—+4—2—1.....E)§ 3 2-wd=din S5 —

47, During an inhibitory- postsynaphc potentral (]PSP), the membrane of the postsynnphc neumn becomes:
more perrneable 11 PR r .
{A)Nat. . BYK o (C) 01 (D) K+ orCl™ ('E)Na or o

48. Suppose that all the calcium could be removed: from the extracellular fluid smrounﬂ.mg a neumn. ‘Such
remuvalwouldmhblttheabﬂrtyofaneuronto ; S S e A
-(A) produce action .putentra]s. e (B) produce synaptlc putenuels
(C) release neurotransmitter.: *:: - :+::(D) degrade neurotransmitters.

s
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49. A physiologist is studying the homeostatic control of blood pressure. In a trial, 2 man goes froma ]ymg toa
standing position and the blood pressure is measured, A fall in blood Ppressure is compensated by a faster
heart rate. Which component of the homeostatic feedback system is responsible for deciding if the blood
pressure is far enough from normal that a response is necessary? : ;

(A) sensor (B) integrator (C) effector D) assunﬂator

50. Which of the following statements about skeletons is true? il

(A) Hydrostatic skeletons are soft and do not protect body parts. - -

(B) Chitin is a major component of vertebrate skeleton.

(C) Vertebrate bones contain living cells.

(D) Most cnidarians must shed their skeleton periodically in order to grow. :

51. All of the following statements are correct except A et &

(A) Human photoreceptors release more neurotransmitterinthe dark. .. . . .- 5
-(B) Humans distinguish colors based on the pattern of stimulation of three types of opsins found in cones.
(C) Sensations from the Ieft visual field of both eyes go to the right visual cortex and sensations from the
' right visual field go to the left visual brain i in humans.. o SR — '

(D) A rattlesnake’s facial pits detect the presence of prey. usmg phutureceptmn.
(E) Pemephon of visual information takes place in the brain. ; R ;

52. Hormone Y activates the cAMP second messenger system in a cell. The greatest response by the ccll wuuld

. ‘come from

~"(A) applying a molecule of hormone Y to the extracellular ﬂl.ud surroumhng the cell
(B) injecting a molecule of hormone Y into the cytoplasm of the cell .

(C) applying a molecule of cAMP to the extracellular fluid sun'oundmg the cell

) injecting a molecule of cAMP into the cytoplasm of the cell . . .

(E) injecting a molecule of activated, cAMP-dependcnt pmtem kmase mtu the cytoplasm of the cel}
53 Which of the following cell types initiates a secondary immune: response?. it

(A) Plasmacells  (B) Effector cells  (C) Memory cells {(D)Natural killer cells (E) Immature leukocytw

' 54 The immune system is capable of mounting specific responses to particular. xmcroorgnmsms because -

(A) lymphocytes are able to change their antigen specificity as required to fight infection. |

- (B) stem cells are able to change their antigen specificity as required to fight infection. - : ]

(C) the bady contains an enormous diversity of lymphocytes, each with a specific kind of antigen receptor.

(D) stem cells make different antigen receptors depending on the invading m:croorgamsm.= :

55 ‘Which of the fnllowmg is not a feature of gas exchange.in the respiratory system of birds? o
(A) The exchange of gases between parabronchi and blood is in a countercurrent d.lrecuom
-(B) The maximum P0; is significantly higher in bird lungs. .. ; P i
(C) The tidal volume is much larger than in a comparably sized memmal, - S e B
(D) Gas exchange occars during both:inhalation and exhalation.

(E) The thickness of respitatory surface is thinner than that of lungs in mammals.

56.In an egg cell treated with EDTA, a chemical that binds calcium and magnesium 1ons,:then! i
(A) acrosomal reaction would be blocked. (B) fast block to polyspermy would not occur.

(C) fertilization envelope would not be formed. (D) fusion of sperm and egg nuclei would be blocked
(E) zygote would not contain maternal and patemai chromosomes. : - iy, L

57. If a person goes on & low sodium diet, which of the following will not hnppen? -- '
(A) The blood volume decreases. - (B) The blood pressure decreases. +(C)ADH secmtton increases.
(D) An increase in the glomerular filtration - (E) The concentration of angiotensin II increases. :
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58. The hydrochloric acid in the ston;ach
(A) is secreted by the parietal cells.
(B}i mcmoses when chyme is emptied into the duodenum
(C)is released in response to sympathetic stimulation.
(D) activates trypsinogen.
(E) decreases when the rate and strength of stomach contractions increase.

XFHMEREBEY (FADM) , KFESRRSA TERBMESE, - x
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1. A recording of the electrical activity of a' ‘patient’s heart show that the atria are contracting regularly and
normally, but every few beats the ventricles fail to contract. The s pfobabiy not functioning:
properly.  (semilunar valve, afrioventricalar valve, SA node, AV node, coronary artery)

2. During the menstrual cycle, estradiol peaks first, _peak next, and ﬁnnlly _ SUrges,

(estradiol , luteinizing hormone and follicle-stimulating hormone, progesterole, tlltosterone)

3. Particular groups of cells called orgamzers convey posmonal mformauon to other oe]ls through morphogens. -
These signal: molecules play a role in’ development by 1 i
(determination, d:fferenhntlon, morphogenesm, mduehon, npoptosls)

- 4, Leptm, a hormone that plays an unportan'f tole‘in long—tetm appetite regulahon in ma.mmals 15 secreted by
 (hypothalamus, pltultnry g!nm! thyroid gland, adipose’ tissue; adreual gland)
5. The connection between striicture and is a basic concept of biology.
(adaptaﬁon, species; function; gene, evolution)
6. Sensory-transducmg cells that fire both graded potentials and action potenhals are found in
- (vision, gustation/taste, olfaction, audition) A2 i

7. A red blood cell is in an arteriole in the small intestine of a cat. Tlns cell must pass thtough :

capillary beds before it is returned to the left ventricle of the heart (along the shortest route) o

{one, two, three, four, five)

(B) MEZEHPMABEBNER (BH0.54) e i

1.In angiosperms, (a type of functional cells) has no nucleus at maturity.

2. Unlike animals, trees (perennial plants) perform the indeterminate growth throughout their hfe span because
of the persistence of ( specific tissue). |-

3. In order to take up water from the environment, plant roots have to keep their water potentxa] i
L :: (lower or higher) than ‘that of soil solution: e == i
4. Aleurone ]ayers of cereal grains have prowded a good model system for studymg the action meohamsms of
-plant hormones Apphcatlon 1 o i ks "(a type of plant lmrmona) to 1so]atod aleurone
Iayers can stxmulate ‘the expressnon of (un enzyme) wluch digosts rmerve starch m '_

5. Three tissue. systems make up the plant body (mcluding root, stem and Ieaf)
: ‘ vasmﬂm-hssua, and . , e e e
6 The most popular model plant for basnc academic researches is

pEa




ﬁiéwi%4"$%215%%ﬂ %%&A%
M3k BOIL ammmfxe
#E LALLM £ 98z 8 R

7. The major functions of accessory pigments in photosynthesis are
(@)
(i)

=, Bl (8805 %)

(A) Match each structure with its major function

1 Pericycle A photosynthes:s
__ 2 Guard cells B. Photo-sphtung of water molecule
—__ 3 [Protease m.lnb;tnr IC._._EGenerate membrane potential ;-
___ 4 Mesophyll - _ D. Sugar translocation
5 Sievetube  E._ Defense agamstherbworous msects
6 ':‘_Mémbt'anep'rdtonpuniﬂ F Formation of lateral roots .
_ 7 PhotosystemIl G. Transpiration control
(B)Mntchtheﬁmctmnsvmhone speclﬁcplanthormonc . Fieiitne woemmed s !
. . _I_ZVPromotelateralbudgrowtb T 1 ORRRETRE TR e g i
2. Keepseed dormancy _B. . Gibberellins
— 3. Stimulate flower wﬂtmg C. Cytokinins . .. =
4. Stimulate stem elongatlon .- D. . Brassinosteroids .. . ,
T _Promote leaf absclssmn E. Abscisicacid
' F. Ethylene - .. ..o oo :
a, . Strigolactones ... . ...

W, EEEN (ﬁﬂzfn‘) C"T%‘i’ﬁ@%)

Allele "
Ampmpatmé’:ﬁolecuw
Allosteric regulation
Deuterostomes -

B ) IRy

H‘%ﬂ (ﬁ! z'ﬁ):wﬁsztast@fg) e S & G
,asexual reproducuon of seed: plants mterms of evoluuonnl and

1, To compare the sex
ecological. sxgnlﬁcan

2. Genetic diversity in 6
evolution. By what | mec
self-pollination) to reduce the

3. The Intergovernmental Panel on’ _ _ _
increase between 2.6 and 4.8°C by the year of 2100 (RCP8.5 Seenano) “Ifthis is true, ‘what impacts will this climate
warming have on plants, animals, and their interactions in Taiwan? - -
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1. In regular flowers, any line drawn through the centre will divide the flower into two identical halves.
When at least one petal of the corolla is different, the flower is zygomorphy.
2. Only the organisms best adapted to their environment tend to survive and transmit their genetic
characteristics in increasing numbers to succeeding generations while those less adapted
tend to be eliminated.
3. The study of evolutionary relationships among groups of organisms (e.g. species, populations),
which are discovered through molecular sequencing data and morphological data matrices.
4. The life cycle of plants with a muiticellular sporophyte, which is dlplmd, that alternates with a
multicellular gametophyte, which is haploid.
5. The use of prokaryotes and other organisms to clean up pollution is called:
_______ 6. An organism's body form can be substantially changed through mutations or changes in the
expression of one or a few "master control" genes that regulate development.
7. The existence of shared ancestry between a pair of structures, or genes, in different species.

8. Any evolutionary change at or above the level of species. It means at Jeast the splitting of a species
into two or the change of a species over time into another,

9. The process through which new species evolve from a single ancestral species whlle mhabltmg the
same geographic region,

10. The spreading of pollen from the male to the female part of a flower.

A. | Alternationof - | B. | Allopatric C. | Artificial selection | D. | Biomimicry
generation | | speciation
| E.'| Bioremediation | F. |Evo-Devo . |G | Floral symmetry H. | Fertilization
I, | Homoplasy |-J. | Homology K. | Macroevolution L. | Natural
. | selection
M. | Phylogeny |'N. | Pollination O. | Sympatric speciation
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